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Which, o} these, number lines will, each, number it oni? Write: A, B, C or none:
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P Solwing 2
Drame arrows onv eachs number line to- estimate where the numbers should be placed.
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P Solving 3

Place these decimals on the number line. [ 27 23 19 25 29 32 ]
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Ewa is correct until, 2.9, hld}ﬂtemhﬂ\cmu\ﬁng,l&wrongfor»llﬂ and, 2.11

Emhm}nrg&ﬁﬂnﬂmb |Dte.nﬂ1&t?qudﬂl whole. When she adds a tenth to- 2.9, she will, have 2
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Reasoning 2
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Drame arrows onv eachs number line to- estimate where the, numbers should be placed.
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